propietateak

DERIBAZIOA: PROPIETATEAK ETA ERREGELAK

y=k (keR)

y'=0

y=kf(x) (keR)

y'=kf'(x)

y=1(x)£9(x)

y'=1()£g'(x)

y=T1(x)g(x) y'=1'(x)g9(x)+ f(x)g'(x)
100 y'= 10090 (5’00

9(x) (909
y=9(f(x)) y'=g'(f(x)1'(x)
erregelak
y=Xx" y'=nxn-
y=1% y'=—1=

T

y=In(x) y'=3
y=a* (a>0) y'=aXIn(a)
y=e* y'=e*
y=sin(x) y'=c0s(X)
y =Cc0s(X) y'==sin(X)
y:tan(x)zsm(x) y'=— 1 —1+tan?(x)

cos(X)

- cos2(X)




FUNTZIO KONPOSATUEN DERIBAZIO ERREGELAK

y=9(f(x)) y'=9g'(f(x)) f'(x) adibideak
y=(f(x))" y'=n(f(x))"1f'(x) y=sin’(x)
_ '

y:m y nt/( f (x))"-L y:4\/x2+1
y=In(f (X)) y'=‘%§ y=In()
y=a'® (a>0) |y'=a'®in(a)f'(x) y=7¢1

y:ef(x) y-:ef(x)f '(X) y:esin(x)
y=sin(f(x)) | y'=cos((f(x))f(x) y:sinw
y=cos(f(x)) |y'=-sin(FONF'(x)  |y= cos[ﬁ]

y=tan(f(x))

()
Y = cos?(f (%))

y=tan(In(x))
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